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#include <stdio. h>
finclude <stdlib. h>

int fac(int n)
{

}

returnn==172?1: fac(th - 1) * n;

int main(int argc, char *argv[])
{
int n=argec =17?1 : atoi(argv[1]);
for (int i =1; i <&=n; i++)
printf ("%d! = %d¥n”, i, fac(i));
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BEHMOTEZERICHBIREFE-TS
» HIBHATEHLL

int fac(int n)

{

returnn=12?1: facth - 1) * n;

|
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EHEEF(IoMYIZKLY

int fac(int n

{

returnn=172?1 : fac(h - 1) * n;

|
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IL—THATHREN

for (int i =1; i <=n; i+
printf ("%d! = %d¥n”, i, fac(i));
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» ATURDENTAEFZHAEHERD
for (int i =1; i <=n; i++)
printf "%d! = %d¥n™, i, fac(i));
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» BRIESEEAE
for (int i =1; i <= n; i+
printf ("%d! = %d¥n”, i, fac(i));




» %dDREHYIZ%sEESIEELEME
for (int 1 =1; i <=n; i++)
printf "%d! = %d¥n”, i, fac(i));
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#tinclude <stdio. h>
ftinclude <stdlib. h>
int fac(int n) {
return n==172?1 : fac(h - 1) * n;

}
int main(int argc, char *argv[]) {
int n=argc =171 : atoi(argv[1]);
for (int i =1; i <=n; i++)
printf ("%d! = %d¥n”, i, fac(i));
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» BMERDHSHa—FEEMLLY
» L—TIEATEMNEL
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» printfb{E 7L

» FHEEFLFEHLZL
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» FEILEEHLELY




il y Rwintyis NN

#include <stdio. h>
#include <stdlib. h>

= atoi,;

printf;
0x20216425;

= 0x7525203d;

= 0x0000000a;

n = 0x55535756;
0x000000e8;
0x6¢8b5e00;
Oxfd831424;
0
0

al

x8b127401;
x8b18246¢;

—. — S m +Hh 3 ©® Q O T O

—> k = 0x8b55046d;
| = Oxdbffelbe;
m = 0x8904c483;
n = 0x0cec83cH;
o = 0x89eb468d;
p = 0x768b2404;
q = 0x43db31e7;
r = Oxaf0fdf89;
s = 0x245¢89fb;
t = 0x247c8904;
u = 0x43d6ff08;
v = Oxee/6eb39;
w = 0x5d0cc483;
X = 0xc35ed5Tbb;



fiz 2

#include <stdio. h>

ﬁll%?b‘\,ml/\ #include <stdlib.h>
e N a = atoi; b = printf;
THDEEDH ¢ = 0x20216425; d = 0x7525203d:

= 0x0000000a; main = 0x55535756;
= 0x000000e8; g = 0x6¢c8bde00;
= 0xfd831424; i = 0x8b127401;

IL—T HVEELN
A2 K = \ | = 0x8b18246¢c; k = 0x8b55046d;
14:"‘%?:6'](:6 (i = Oxddoffedbe; m = 0x8904c483;

e
f g
h |
J k
| m
:E)"Jt_:o 5/\Jﬁdfﬁ':€), E(, ) n = 0xOcec83co; o = 0x89eb468d;
Y q
r S
t u
v w
X

S
<7

&Il 1E.

FELD

- o s % = 0x768b2404; = 0x43db31e7;
ELNVO O EHEAVEELY

= Oxaf0fdf89; s = 0x245c89fb;
ETHHLL

= 0x247c8904; u = 0x43d6ff08;
= Oxee/6eb39;
= Oxc35e5fbhb;

= 0xbd0cc483;
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x86 (32bit) MWindows, Linux, Mac_t CE{E

» Visual StudioZiis>cl fac.c
- OSIZ&>TIXDEP%offlc9 A EHY
» gcc’din>gec fac.c -m32 -z execstack

» HHLWMac OST=&{a[+ LK THEK
- #rLLWMaclE?



